10 16
0.0lmg L ( )K0102 55
K0102 38.1.2 38.2
K0102 38.1.2 38.3
0.0lmg L K0102 54
0.05mg L K0102 65.2
0.0lmg L K0102 61.2 61.3
0.0005mg L 46 12 59
1
2
PCB 3
0.02mg L K0125 5.1 5.2 5.3.2
0.002mg L K0125 5.1 5.2 5.3.1 5.4.1 5.5
1 2— 0.004mg L K0125 5.1 5.2 5.3.1 5.3.2
1 1— 0.02mg L K0125 5.1 5.2 5.3.2
—1 2— 0.04mg L K0125 5.1 5.2 5.3.2
11 1— Img L K0125 5.1 5.2 5.3.1 5.4.1 5.5
11 2— 0.006mg L K0125 5.1 5.2 5.3.1 5.4.1 5.5
0.03mg L K0125 5.1 5.2 5.3.1 5.4.1 5.5
0.01mg L K0125 5.1 5.2 5.3.1 5.4.1 5.5
1 3— 0.002mg L K0125 5.1 5.2 5.3.1
0.006mg L 4
0.003mg L 5 1 2
0.02mg L 5 1 2
0.0lmg L K0125 5.1 5.2 5.3.2
0.01mg L K0102 67.2 67.3
10mg L K0102 43.2.1 43.2.3
43.2.5 K0102
43.1
0.8mg L K0102 34.1
mg L K0102 47.1 47.3
1
2
3 43.2.1 43.2.3 43.2.5
0.2259 43.1 0.3045
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.04mg L

1 1—

Img L

1 2—

0.006mg

0.002mg

0.006mg

[l Rl Ll L

0.003mg

0.02mg L

0.01mg L

0.01mg L




1993

©)

1993

KO0101 32

1/5 1/2.5 1/2.5
1/20

1/5

1/1

1/5

1/5

1/20
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1991 1989
1991
(mm) AR(m)
>10 >1500
2 10 500 1500
1 2 400 500
0.5 1 200 400
0.25 0.5 100 200
0.10 0.25 50 100
0.05 0.10 10 50
0.025 0.05 5 10
1991
R=575 s ,—DK (Kusakin)
R = 3000 S\/E (Seichard';
R—a |1t
S
a=15
R - Hkt
Sy
a=15
R (m) s (m) D (m H
(m) k (m/s) T (m?/s) S t
(s) Sy
ho
ho X
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